English Worksheet
Class: IX

Read the passage carefully and answer the questions that follow:

Antarctica, an isolated and harsh continent, has been a focal point for scientific studies conducted by
various countries over the years. The pursuit of understanding its unique environment has led to
collaborative efforts and individual initiatives.

In the early 20th century, the British Antarctic Expedition (1901-1904), led by Robert Falcon Scott,
marked the inception of systematic exploration. Since then, nations like the United States, Russia,
and China have established research stations, such as McMurdo Station, Vostok Station, and Kunlun
Station, respectively, to conduct multidisciplinary studies.

The International Geophysical Year (IGY) in 1957-1958 saw a surge in scientific activities, with
countries pooling resources. The establishment of the Antarctic Treaty System in 1959 further
facilitated cooperative research. Any measures of a military nature, including testing of any type of
weapons, are prohibited; any nuclear explosions in Antarctica and the disposal there of radioactive
waste material are proscribed. Over the years, advancements in technology have enabled
sophisticated studies, with disciplines ranging from glaciology and meteorology to biology.

In recent years, the focus has expanded to climate change research. The European Space Agency's
CryoSat-2 satellite and NASA's Operation Ice Bridge have played crucial roles in monitoring ice
thickness and changes in the region. Additionally, the drilling project at Lake Vostok, led by Russia,
provided insights into ancient climates through ice core samples.

Antarctica remains a testament to international collaboration in scientific exploration, with countries
utilizing cutting-edge technologies to unravel the mysteries of this pristine and extreme environment.

1. What was the primary focus of the British Antarctic Expedition (1901-1904)?

A) Geological studies

B) Biological research

C) Meteorological observations
D) Oceanography

2. During which event did the International Geophysical Year (IGY) take place?

A) 1965-1966



B) 1957-1958
C) 1980-1981
D) 1930-1931
3. Which country led the drilling project at Lake Vostok, providing insights into ancient climates?

4. In Antarctica, what is the main focus of the European Space Agency’s CryoSat-2 satellite?

A) Glaciology

B) Meteorology
C) Oceanography
D) Seismology

5. Which research station is operated by China in Antarctica?

A) Scott Base

B) Halley Research Station
C) McMurdo Station

D) Kunlun Station

6. Which technological advancement enabled the monitoring of ice thickness in Antarctica?

A) Ground-penetrating radar
B) Satellites

C) Underwater drones

D) Sonar technology

7. Among the following statements, which one(s) is/ are incorrect regarding the Antarctic Treaty
System?

) It was established in 1959.
1) It allows military activities.
1) It facilitates cooperative research.

IV) It does not prohibit nuclear testing.

A) Only I



B) I, Il &1l

ONnN&Iv

D)l & IV

8. What is the purpose of NASA’s Operation Ice Bridge in Antarctica?
9. Find the antonym of ‘decline’ in the third paragraph.

10. In the passage, what is the synonym for “inception”?

A) Conclusion

B) Commencement
C) Culmination

D) Termination

Grammar

1. Fill in the blanks by using the correct form of verbs given in the brackets.

Mini (a)..eevereeeennee. (get) up at 7am. She saw her father(b)............. (do) some yoga exercises. She
() IR (think) she (d)....ccoovevvevennene (start) following him from the next day. She

(=) I (have) her breakfast at 8am. Then she (f)................ (get) ready for school. “What
(=) (do), Mini?” mother’s voice came.

2. Fill in the blanks by choosing the correct option:



Too many vehicles on roads................ the air bad.

are polluting ii. polluting
pollute iv. are being polluting
By the time he........ccccuenun.ne. , | will have reached home.
will come back ii. comes back
come back iv. came back
She o for his letter since last month.
has been waiting ii. have been waiting
am waiting iv. is wait
The doctor concluded that the patient........................ five hours ago.
died ii. has die

will have died iv. had died



e. Recently she .............. many awards for her contribution to fine arts.

i. has won ii. wins

iii. won iv. will have win

3. Turn into indirect speech:

a) She said to Sam, “l will meet you at the library tomorrow.”
b) “Why didn’t you attend the meeting?” he asked me.

c) Meghna said, “My father is not coming here.”

d) “l have completed the project on time,” she said.
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Mathematics Worksheet
Class — IX

Q. 1 — Q. 10 are multiple choice questions. Select the most appropriate answer from the
given options.

1. The measure of the angle between the coordinate axes is
(a) 0° (b) 90° (c) 180° (d) 360°
2. Ifx3—3x2+3x+7=(+1)(ax?>+ bx +c),thea+ b + cis equal to
(a) 4 (b) 12 (c) —10 (d)3
3. Ifp(x) =3x+ 10, then p(x) + p(—x) is equal to
(@) 6x + 20 (b) 6x (c) 20 (d)0
4. If equation of X-axis is y = k, then the value of k is

(@0 (b) 1 (c) 2 (d)3

> |fx =2andy = 4, then the value of (%)x_y + G)y_x is

(@) 4 (b) 8 (c) 12 (d) 2

6. If (x,y) = (2k — 1,k) is a solution of the equation 3x — 5y — 7 = 0, then the value of k
will be
(@) 2 (b) 5 (c) 10 (d) 15

7. The graph of the equation x = a is a straight line parallel to
(a) X-axis (b) Y-axis (c) Both of them (d) None of these
8. Anangle is one-fifth of its supplement, then the measure of the angle is
(a) 15° (b) 30° (c) 45° (d) 60°
9. InAABC,if BC = AB and « B = 80°, then £ A equals to
(a) 40° (b) 50° (c) 60° (d) 70°
10. If AABC = AFDE and AB =5cm, 2 B = 40°, £ A = 80°, then £ E equals to
(a) 30° (b) 60° (c) 90° (d) 120°
(Q. 11 - Q. 15) Fill in the blanks:



11.

12,
13.
14,
15.

A line drawn from the mid-point of one side of a triangle ............... to another side
intersects the third side atits .............

Two triangles, lie on same base and between same parallel lines, have ............. area.
A circle divides the plane, on which it lies, in ............... parts.
Two circles of the same radii are .............

Equal chords of congruent circles subtend equal angles at the ...........

(Q. 16 — Q. 20) Answer the following:

16.

17,

18.
19.

20.
21,
22,

23.
24,

25,

26.
217,

ABC and ADC are two right angled triangles with common hypotenuse AC. Prove that
£ CAD = «CBD.

If the height of an equilateral triangle measures 9 cm, then find its area.
OR
Find the area of a triangle, whose base and altitude are 5 cm and 8 cm, respectively.

The radius of a solid hemisphere is 7 cm. Find its total surface area.

A cone, a hemisphere and a cylinder stand on equal bases and have the same height. Then,
find the ratio of their volumes.

Write (3a + 4b + 5c¢)? in expanded form.
Evaluate by using suitable identity: (104)3

In which quadrant or on which axis do each of the points (- 2, 4), (3, - 1), (- 1, 0) and (- 3,
—-5) lie?

Write equations of two lines passing through (2, 14).

Prove the following statement:
The sum of the angles of a triangle is 180°.
OR
The angles of quadrilateral are in the ratio 3 : 5: 9 : 13. Find all the angles of the
quadrilateral.

Locate v/3 on number line.
Factorise x3 — 23x2% + 142x — 120.

A shot-putt is a metallic sphere of radius 4.9 cm. If the density of the metal is 7.8 g per cm?3,
find the mass of the shot-putt.



28.

29.

30.

31.

OR

Monica has a piece of canvas whose area is 551 m?. She uses it to have a conical tent made,
with a base radius of 7 m. Assuming that all the stitching margins and the wastage incurred
while cutting, amounts to approximately 1 m?, find the volume of the tent that can be made
with it.

A triangular park ABC has sides 120m, 80m and 50m. A gardener Dhania has to put a fence
all around it and also plant grass inside. How much area does she need to plant? Find the cost
of fencing it with barbed wire at the rate of Rs 20 per metre leaving a space 3m wide for a
gate on one side.

OR

Sanya has a piece of land which is in the shape of a A 1I00m B
rhombus. She wants her one daughter and one son to work
on the land and produce different crops. She divided the 100 m
land in two equal parts. If the perimeter of the land is 400
m and one of the diagonals is 160 m, how much area each

- = 7 = : | ‘ 3
of them will get for their crops® D 100 m C

R\
Q>
\° 100 m

Calculate the mean and mode for the following data:

Marks 10 15 20 25 30 35 40

Number of students | 8 12 25 30 25 12 8

In a city, the weekly observations made in a study on the cost-of-living index are given in
the following table:

Cost of living index Number of weeks

140 — 150 5
150 — 160 10
160 - 170 20
170 -180 9
180 — 190 6
190 - 200 2

Total 52

Draw a frequency polygon for the above-mentioned data.

Vi1-+7

T+ = @ — bV77, then find the values of a and b.

If a and b are rational numbers and




32.
33.

34,

35.

Simplify (a + b)? — (a — b)? — 6b(a? — b?).

In figure, two sides AB and BC and A P
median AM of one triangle ABC are /N
respectively equal to sides PQ and Z | \\ 7\
QR and median PN of A PQR. Show /1 '\ /1
that B ra il —»,‘}}. ) N\ \ o A/, R 77*7
M C Q N R

(i) AABM = APQN
(i) AABC = APQR
OR

If two isosceles triangles have a common base, then prove that the line segement joining their
vertices bisects the common base at right angles.
State and prove the Converse of Mid-point Theorem.
A cubical box has each edge 8 cm and another cuboidal box is 12 cm long, 8 cm wide and 6
cm high.

(1)  Which box has the greater lateral surface area and by how much?
(i) Which box has smaller total surface area and by how much?

OR

A cylindrical road roller made of iron is 1.5 m wide. Its inner diameter is 60 cm and thickness
of iron sheet rolled into the road roller is 10 cm. Find the weight of the roller if 1 cm3 of iron
weigh 8 grams.
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VACATION HOMEWORK
(DECEMBER2023)
WORKSHEET OF SCIENCE

INSTRUCTION: Solve the questions given belowin loose sheet and submit it to the science teacher
after the vacations. Fully solved submission will get FULL MARKS in MA.

Q1. A rocket is moving up with a velocity v. If the velocity of this rocket is suddenly tripled, what will
be the ratio of two kinetic energies?

Q2. A ball of mass 0.5 kg slows down from a speed of 5m/s to 3m/s, calculate the change in the
kinetic energy of the ball.

Q3. Give an example for

a. force acting in the direction of displacement

b. force acting against the direction of displacement

c. force acting perpendicular to the direction of displacement

Q4. Represent graphically-
a. Two sound waves having the same amplitude but different frequencies.
b. Two sound waves having the same frequency but different amplitude

Q5.What type of energy is stored in the following cases?
a. A stretched rubber band

b. A compressed spring

c. An object at a certain height

d. A stretched bow

Q6. Draw a curve showing density or pressure variations with respect to distance for a disturbance
produced by sound. Mark the position of compression and rarefaction on this curve. Also define
wavelength and time period using this curve.

Q7. Find the frequency of wave whose time period is 0.001 second.

Q8. Write the formula and calculate the formula mass (molecular mass)of the following compounds.
a. Calcium sulphate
b. Aluminium nitrate
¢ .Ammonium carbonate
Q9. Write the electronic configuration of the following.
a.mg* b. N* c.Ca d.AI*

Q10. When 3 g of carbon is burnt in 8 g of oxygen to form 11 g of carbon dioxide. What mass of
carbon dioxide is formed when 10 g of carbon is burnt in 8 g of oxygen? Which law of chemical
combination will govern your answer?



Q11. Find out the atomicity and compute the ratio by mass of the combining elements in each one
of the given molecules.
a. Ammonia b. Glucose ¢ .Hydrogen chloride

Q12. If the K and L shells of an atom are full, then what would be the
a. total number of electrons and protons? b. Valency? c. ldentify the element.

Q13. Differentiate anode and cathode rays and also name the scientists who observed these rays for
the first time.

Q14. An element Z forms and oxide ZO. What will be the formula of its chloride and phosphate?

Q15. What has the following revolution lead to?
a. Green Revolution b. White Revolution c. Yellow Revolution
d. Silver Revolution e. Blue Revolution

Q16. Compare between fertiliser and Manure.

Q17. Name three methods used for improving the crop varieties.

Q18. List some steps you would take to improve the crop production in your crop field.
Q19. What are weeds? How can we protect our crop from them?

Q20. Write two examples of each of the following —

a. Indigenous, Exotic and Cross breeds of Cow.

b. Indigenous, Exotic and Cross breeds of poultry birds.

Q21. Write a short note on Induced breeding technique in fish farming.
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HOLIDAY HOMEWORK
SOCIAL SCIENCE

Topic: Medicinal Plants in India

As part of your research based holiday homework, we would like

you to explore the fascinating world of medicinal plants. Prepare

a project on Medicinal plants that grows in India and provide

information for the highlighted points.
Ensure your research covers the following Instructions:

e Choose any two medicinal plants

Plant Identification

Botanical names

Characteristics of plants

Geographical area of occurrence




Medicinal Properties

Economic value

Any historical or cultural significance

Traditional Uses

Ongoing research on these plants in the medical field

Demarcate the Medicinal plant in the outline map of India

Research: Once you got your facts checked, it is time to conduct
research. You should consult a variety of sources, including
academic journals, books and news articles. Your research

should be thorough and well-documented

Evaluation Parameters: Your project will be evaluated on
several parameters, including the Cover page, quality of your
research, the clarity of your writing, content (the depth of your

analysis), and the overall coherence of your report

Submission: Your project should be submitted to your subject
teacher latest by 05.01.2024. Please mention your Name, Class

& Section, and the title of your project on the Cover page.

Remember to present your findings in a clear and concise
manner. Feel free to use visuals or diagrams to enhance your

presentation. Wishing you a fruitful research experience!
Best regards!

OPJS-R




